ao)A & 1= ZZHzHd ABC o WAol1, H D,E,F =

=1 2
H-olth. AC = 15cm, AB+BC = 2lem ¥ 1], AABC 9] 9]
Hr

B on



the 27 20, 0 £ 27 aABC o] 989, WA golh 1
2] 71017} 242} 7.50m, 3em & W, AABC 9 Eef¢] Zo|E ate]
e,

a = cm



3. U2 Ol H1E aABC o Widoltt. x o ghe Fstofet,




4. o I"”NA 90, 0= 22 AABC 9 3, W Holrt. ¥hA]
&2 dol7t 242} 3em, 1em € W, AABC ] E2|¢] ZAolE 5117

@ 6cm @ 8cm ® 10cm @ 12cm ® 1l4cm



e A BD : DC =2 : 3,CE: EA =1 : 20°]th
AABC = 15 o], ADCE ©] ¥ ©]+=?

A




6. o2 1A F M2 BCO $Hol1 AP = 3PM |t} AABC =
80cm? d o}, APBM 9] Ho]&?

A

@ 10cm? @ 15cm? ® 20cm?

@ 25cm? ® 30cm?



7. & 1A AD:DB=3:2 BE:EC=2:1°]t}. AABC = 60
¢ wfj, ADBE ¢] Y o|& otofe},

A




AABC = 160 ¥ @, ADBM €] B o] & 5fof 2t

A
D
B&————C



